Assembly Instruction

CF 9510-C &'




Assembly Instruction Page 2 of 9 CF 9510-C 5’

PARTS INVENTORY PARTS INVENTORY
ID | DESCRIPTION QTY ID | DESCRIPTION QTY

m | 8 (D| M4 ALLEN KEY / 1
| 18 (| M5 ALLEN KEY / 1

1)) B I (X)| M8 SPANNER % 1

©

()| M6*20 BOLT

M8*20 BOLT

©

©

(©| M8*30 BOLT

(®| M8*50BOLT  Qrmmmw | 22 (L)| PROTECTIVE PAD Q 6

(®| FLAT WASHER M8 48 (M)| BLACK PIN @ 8

(F)| SPRING WASHERM8 & | 12 ()| MATTRESS STOPPERR\R 2

(9| FLAT WASHER M6 8

()| NUT M8 = |12




Assembly Instruction Page 3 of 9 CF 9510-C &'
PARTS INVENTORY PARTS INVENTORY
ID | DESCRIPTION QTY ID | DESCRIPTION QTY
@ Headboard 1 Double Open-Ended Clip ss==| 15
@ Right Wings 1 @ Side Rail Metal Bar )
|
Headboard and Footboard
@ Left Wings 1 @ Metal Bar 2
— —
= Side Rail Connertor
@ Footboard r"" 1 @ I\I/Ietal Bar I 2
[ |
Middle Metal Bar
i 1 1
G| Lot it Fame L
@ Right Gas Lift Frame ( 1 @ Support Legs W 2
@ Gas Lift Machine / 2 Gas Lift Strap @ 1
(6)| Right Side Rail 1 (17)| Gold Comer ~ Z—8y | 2
|
: . Black Nonwoven
1 1
@ Left Side Rail Fabaic <>
Wood Slats / 30 Black Back Plate @ 1
@ Single Close Ended Clip == | 30




Page 4 of 9 CF 9510-C &'

Assembly Instruction




Assembly Instruction Page 5 of 9 CF 9510-C &'

® «««(I(@
@@ {{0)

®

««(«-(@

® @)
© @)

®




Assembly Instruction

Page 6 of 9

CF 9510-C %'

® @)

a(©)

®

® @)

(@)

)

® a0 Q ® a0
(@)




Assembly Instruction Page 7 of 9 CF 9510-C 5’

(@)

® a0
Q @)

®

@: Pay attention to these

three holes on both sides.
They should be on the

same side on bolts rails.

-~

-
/
[ Tee1 ok
Fi
[

® a0
® )
© o &




Assembly Instruction

Page 8 of 9

CF 9510-C 5'

(D : Please keep adjuster

® .
T ? ? around 5 to 8 mm distant
= S = away from the floor.
® ® &
== @—@?
® A ——®
H
Heavy duty gaslift machines
are used. Ensure to exert
sufficient force while pulling
down the storage compartment
using the center strap only!
!
© © ©
- & d
¥ ® &




CF 9510-C 5’

Page 9 of 9

Assembly Instruction




